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Similar Triangles A
Day 2

i)Write the Similarity Statement
ii) Ratios

iii) Fill in ratios
iv) solve for "x"

A telephone pole that is 62 ft tall cast a shadow
: that is 40 ft long. Find the height of a fence pole
that cast a 4 ft shadow.
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cross multiply ISOI ,)(

29.25 x = (9)(48.78)
29.25 x = 439.02

29.25 x = 439.02
29.25 29.25

x= 15.01

X =%
Shadow Shadow G 2 LFO
X=4(e2)
62 =x ta
40 4 =2
40x = 62(4)
40x = 248
40x = 248
40 40

X=6.2
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Write a similarity statement and ratios, then find "k" D
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Homework
page 350 - 351
9,10 - 15
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